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BX3—2 BEMIIERTIEEENDIEEICEATLHEEA1/1) REEE | FRE2H4EE
[ 2O E | BmES 75761095 EEa | i1 T R
SMERIHhD Tin(ZhBEEd 51 ih SMERIHR
ﬁg TREOBEBOSILEHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESSLADKES
5 X 4 B | Timh o DR jmxa;é R 4 TIwmMLDKE | F& jmxajé R 4 B | LmAhSDLEE jw)xajé K 4 HiEhooks | & 7']0)7(%22‘
(m) (m) (kN/ i) EEBfE(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/m%E#BZ5| 1.00| 000 ~ 052 107.70 |3mEEZS -~ - 100kN/mM&#z25 | 1.00 | 1201 ~ 1413| 10770 |3mZE#BZ5 ~ -
s 1.00 | 0.52 ~ 830 100.00 | =nst | 0oo ~ 830\ 1.96 9.93 st 1.00 | 6.00 ~ 1201 100.00 | =nst | 6.00 ~ 1413)] 1.96 9.93
2 100kN/m%E#BZ5 | 1.00| 000 ~ 087 11302 |3mEEZD -~ 100kN/mM&#z25 | 1.00 | 11.55 ~ 1505 11302 |3mZE#BzZ5b ~
s 1.00 | 0.87 ~ 865 100.00 | =4 | 0oo ~ 865|217 10.95 st 1.00 | 6.00 ~ 1155 100.00 | =nhst | 6.00 ~ 1505 2.17 10.95
3 100kN/m##8%% | 1.00 000 ~ 1.25| 11888 |3m%EBZx% ~ 100kN/mM%E#25 | 1.00 | 11.16 ~ 1618| 11888 |3mE#EZ5 ~
s 1.00 | 1.26 ~ 903 100.00 | =hd5 | 000 ~ 9.03| 221 11.156 st 1.00 | 6.00 ~ 1116 100.00 | #nLsy | 6,00 ~ 1618 2.21 11.15
4 100kN/m#E#82% | 1.00)000 ~ 111 116.74 |3m%E#BZ 5 ~ 100kN/mM%&#z25 | 1.00 | 1056 ~ 14.08| 116.74 |3mE#BZD ~
s 1.00 | 111 ~ 890 100.00 | =4t | ooo ~ 890 | 215 10.88 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 6.00 ~ 1408| 2.15 10.88
5 100kN/m##8%% | 1.00 | 000 ~ 166 12545 |3m%EBZ% ~ 100kN/mM%E#BZ5 | 1.00 | 11.06 ~ 1841 125.45 |3m%E#BZ D ~
s 1.00 | 1.66 ~ 945 100.00 | #nst | 0.00 ~ 9.45| 2.22 11.21 st 1.00 | 6.00 ~ 1106 100.00 | =nst | 6.00 ~ 1841|222 11.21
P 100kN/m%E#BZ5 | 1.00| 000 ~ 292| 146.36 |3mEBZD ~ 100kN/mM%E#Z25 | 1.00 | 1065 ~ 2454| 146.36 |3mE#EZ5 ~
s 1.00 | 292 ~ 171 100.00 | =St | 0.00 ~ 1071 2.81 14.19 st 1.00 | 6.00 ~ 1065 100.00 | =nLsy | 6,00 ~ 24.54| 2.81 14.19
- 100kN/m##8%% | 1.00 | 000 ~ 243 137.99 |3m%EBZ% ~ 100kN/mM&#z25 | 1.00 | 1056 ~ 2055| 13799 |3mZE#BzZ5 ~
s 1.00 | 243 ~ 1021 100.00 | =4 | 0oo ~ 1021 276 13.95 st 1.00 | 6.00 ~ 1056 100.00 | =nLst | 6.00 ~ 2055)| 2.76 13.95
P 100kN/m##8%% | 1.00 | 000 ~ 1.78| 12731 |3m%EBZx5% ~ 100kN/mM%&#z25 | 1.00 | 1053 ~ 1686 12731 |3mZE#Bz5b ~
s 1.00 | 1.78 ~ 956 100.00 | =4t | 0oo ~ 956 | 2.38 12.01 st 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 1686| 2.38 12.01
9 100kN/mi%E#82% | 1.00|000 ~ 1.79 127.50 |3m%E#BZ 5 ~ 100kN/mM&#z25 | 1.00 | 1055 ~ 17.15| 12750 |3mZE#BzZ5 ~
s 1.00 | 179 ~ 958 100.00 | #=nSt | 0.00 ~ 9.58| 2.54 11.82 st 1.00 | 6.00 ~ 1055 100.00 | =nhst | 5.00 ~ 17.15| 2.54 11.82
10 100kN/mi%E#82% | 1.00|0.00 ~ 0.29 104.22 |3m%E#BZ 5 ~ 100kN/mM&#z25 | 1.00 | 10.75 ~ 11.59| 104.22 |3mZE#BzZ5 ~
s 1.00 )| 029 ~ 807 100.00 | #nlst | 0.00 ~ 807 | 2.09 10.56 st 1.00 | .00 ~ 1075 100.00 | =nst | 6.00 ~ 1159 2.09 10.56
11 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/m%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 7.60 97.35 | =N | 000 ~ 7.60| 1.95 9.83 st 1.00 | .00 ~ 1170 97.35 | #nhs | 5,00 ~ 11.70| 1.95 9.83
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhLst ~ Fhst ~ FhLst ~ st ~




